

SOME STRONG LAWS FOR COUNTABLE NON-HOMOGENEOUS MARKOV CHAINS

Liu Wen and Yang Weiguo
Hebei Institute of
Technology, Tianjin
The People's Republic of China

Abstract

The purpose of this paper is to present some strong laws for the frequency of occurrence of states and ordered couples of states of countable non-homogeneous Markov chains, and put forward a new approach for the study of convergence a.e..

1. **Introduction.** The strong laws for countable non-homogeneous Markov chains were discussed in references [1]-[9], where various restrictions were imposed on the Markov chains. The purpose of this paper is to put forward a new approach of using the Lebesgue theorem on differentiability of monotone functions to study the convergence "almost everywhere", and to present some new strong laws for the frequency of occurrence of states and ordered couples of states of the countable non-homogeneous Markov chains.

Throughout this paper we shall deal with the underlying probability space $((0,1),\beta,\mu)$, where β is the class of Borel sets in interval $(0,1)$, and μ is the Lebesgue measure. We first give, in the above probability space, a realization of the Markov chain with state space $S=\{1,2,3,\dots\}$, initial distribution

$$q_1, q_2, q_3, \dots, \quad (1)$$

and one-step-transition matrix

$$P^n = \begin{bmatrix} p_{11}^n & p_{12}^n & p_{13}^n & \dots \\ p_{21}^n & p_{22}^n & p_{23}^n & \dots \\ \dots & \dots & \dots & \dots \end{bmatrix} \quad n=1,2,\dots \quad (2)$$

Let

$$q_{n_1}, q_{n_2}, q_{n_3}, \dots \quad (3)$$

be the positive terms of (1), where $n_1 < n_2 < n_3 < \dots$. Divide $[0,1)$ into countable many right-semiopen intervals d_{x_0} ($x_0 = n_1, n_2, n_3, \dots$), that is,

$$d_{n_1} = [0, q_{n_1}), d_{n_2} = [q_{n_1}, q_{n_1} + q_{n_2}), \dots$$

These intervals will be called the 0-th order d-intervals. Proceeding inductively, suppose the n -th order d-intervals $d_{x_0 \dots x_n}$ have been defined. Then divide the right-semiopen interval $d_{x_0 \dots x_n}$ into countable many right-semiopen intervals

$$d_{x_0 \dots x_n x_{n+1}} \quad (x_{n+1} = m_i, \quad i=1,2,3,\dots)$$

according to the ratio $n_{p x_n m_2} : n_{p x_n m_3} : \dots$, where

$$n_{p x_n m_i}, \quad i=1,2,3,\dots, \quad m_1 < m_2 < m_3 < \dots \quad (4)$$

are the positive elements of the x_n -th row of the transition matrix n^p . In this way the $(n+1)$ st order d-intervals are created. It is easy to see that

$$\mu(d_{x_0 \dots x_n}) = q_{x_0} \prod_{m=0}^{n-1} n_{p x_m x_{m+1}} \quad (5)$$

Define, for $n \geq 0$, a random variable $X_n: [0,1) \rightarrow S$ as follows:

$$X_n(\omega) = x_n, \quad \text{if } \omega \in d_{x_0 \dots x_n} \quad (6)$$

By (5) and (6) we have

$$\mu(X_0=x_0, \dots, X_n=x_n) = \mu(d_{x_0 \dots x_n}) = q_{x_0} \prod_{m=0}^{n-1} n_{p x_m x_{m+1}} \quad (7)$$

Therefore $\{X_n, n \geq 0\}$ is a Markov chain with initial distribution (1) and transition matrix (2).

In order to prove the theorems below we first construct an auxiliary function. Assume

$$n^R = \begin{bmatrix} n^{r_{11}} & n^{r_{12}} & n^{r_{13}} & \dots \\ n^{r_{21}} & n^{r_{22}} & n^{r_{23}} & \dots \\ n^{r_{31}} & n^{r_{32}} & n^{r_{33}} & \dots \\ \dots & \dots & \dots & \dots \end{bmatrix} \quad n=0,1,2,\dots \quad (8)$$

is another sequence of one-step transition matrices where $n^r_{ij} > 0$ if and only if $n^p_{ij} > 0$. The sequence (8) will be denoted by R . Using the initial distribution (1) in the same procedure as above, except with n^R in place of n^P we construct a new collection of intervals $\Delta_{x_0 \dots x_n}$. It is clear that

$$x_0 = d_{x_0} (x_0 = n_1, n_1, n_3, \dots), \quad (9)$$

and

$$\mu(\Delta_{x_0 \dots x_n}) = q_{x_0} \prod_{m=0}^{n-1} n^r_{x_m x_{m+1}}. \quad (10)$$

Let $d^-_{x_0 \dots x_n}$ and $d^+_{x_0 \dots x_n}$ be, respectively, the left and right end-points of $d_{x_0 \dots x_n}$; define $\Delta^-_{x_0 \dots x_n}$ and $\Delta^+_{x_0 \dots x_n}$ similarly. Let Q be the set of end-points of all d -intervals. Now we define a function $f: [0, 1) \rightarrow [0, 1)$ as follows:

$$f(d^-_{x_0 \dots x_n}) = \Delta^-_{x_0 \dots x_n}, \quad f(d^+_{x_0 \dots x_n}) = \Delta^+_{x_0 \dots x_n}, \quad (11)$$

$$f(w) = \sup\{f(t), t \in Q \cap [0, w)\}, \quad w \in [0, 1) - Q. \quad (12)$$

It is easy to see that f is increasing on $[0, 1)$. Let

$$t_n(R, w) = \frac{\mu(\Delta_{x_0 \dots x_n})}{\mu(d_{x_0 \dots x_n})}, \quad w \in d_{x_0 \dots x_n}. \quad (13)$$

By (5) and (10)-(13) we have

$$t_n(R, w) = \frac{f(d^+_{x_0 \dots x_n}) - f(d^-_{x_0 \dots x_n})}{d^+_{x_0 \dots x_n} - d^-_{x_0 \dots x_n}} = \pi \frac{n^r_{x_m x_{m+1}}}{m^p_{x_m x_{m+1}}}, \quad w \in d_{x_0 \dots x_n}$$

Let $k, l \in S, \lambda > 0$ be a constant. For each $m \geq 0$, when $0 < m^p_{k1} < 1$, choose the value of m^r_{k1} such that

$$\frac{m^r_{k1} (1 - m^p_{k1})}{m^p_{k1} (1 - m^r_{k1})} = \lambda, \quad (15)$$

that is,

$$m^r_{k1} = \frac{m^p_{k1}}{1 + (-1) m^p_{k1}} \quad (16)$$

(it is easy to see that $0 < m_{rk1} < 1$), and let

$$m_{rkj} = \frac{1 - m_{rk1}}{1 - m_{pk1}} m_{pkj}, \quad j \neq 1; \quad (17)$$

when $m_{pk1} = 0$ or 1 , let

$$m_{rkj} = m_{pkj}, \quad j \in S; \quad (18)$$

when $i \neq k$, let

$$m_{rij} = m_{pij}, \quad j \in S. \quad (19)$$

When m_{rij} ($i, j \in S, m=0, 1, 2, \dots$) are defined by (15)-(19), the sequence (8) and the function defined by (11) and (12) are determined by λ , so that $t_n(R, w)$ in (13) may be denoted by $t_n(\lambda, w)$.

Assume that $\{X_n, n > 0\}$ is defined by (6), $k, 1 \in S$, $A_n(k, 1, w)$ is the number of occurrence of couple $(k, 1)$ in the partial sequence of order couples

$$(X_0(w), X_1(w)), (X_1(w), X_2(w)), \dots, (X_{n-1}(w), X_n(w)), \quad (20)$$

and $I_k(s)$ ($k=1, 2, \dots$) is a function defined on S :

$$I_k(s) = \begin{cases} 1, & \text{if } s=k; \\ 0, & \text{if } s \neq k. \end{cases} \quad (21)$$

Lemma 1. if $w \in d_{x_0 \dots x_n}$ ($n \geq 1$),

$$t_n(\lambda, w) = \sum_{m=0}^{n-1} A_n(k, 1, w) \left(\frac{1}{1 + (-1)^m m_{pk1}} \right)^m I_k(x_m) \quad (22)$$

Proof. There are the three cases for the factors in (14):

Case 1. $x_m \neq k$: by (19) we have

$$\frac{m_{rkx_{m+1}}}{m_{pkx_{m+1}}} = 1 \quad (23)$$

Case 2. $x_m=k, x_{m+1}=1$: by (16) and (18) we have

$$\frac{{}_m r_{x_m x_{m+1}}}{{}_m p_{x_m x_{m+1}}} = \frac{\lambda}{1+(\lambda-1){}_m p_{k1}} \quad (24)$$

Case 3. $x_m=k, x_{m+1} \neq 1$: by (17) and the equality

$$\frac{1-{}_m r_{k1}}{1-{}_m p_{k1}} = \frac{1}{1+(\lambda-1){}_m p_{k1}} \quad ({}_m p_{k1} < 1); \quad (25)$$

(Note. Since $x_m=k$ and ${}_m p_{k1}=1$ implies $x_{m+1}=1$, $x_m=k$ and $x_{m+1}=1$ implies ${}_m p_{k1}, 1$) we have

$$\frac{{}_m r_{x_m x_{m+1}}}{{}_m p_{x_m x_{m+1}}} = \frac{1}{1+(\lambda-1){}_m p_{k1}} \quad (26)$$

By (23), (24), (26) and (24), (22) follows, Q.E.D

For each $w \in [0, 1)$, let $x_n = X_n(w)$, then $w \in d_{x_0 \dots x_n}$ ($n \geq 0$) and we have the rewrite of (22):

$$t_n(, w) = \lambda^{\sum_{m=0}^{n-1} A_n(k, 1, w)} \left(\frac{1}{{}_m p_{k1}} \right)^{I_k(X_m(w))} \quad w \in [0, 1). \quad (27)$$

2. The strong law for the frequency of occurrence of ordered couples of states.

Theorem 1. let $\{X_n, n \geq 0\}$ be a Markov chain defined by (8) $k, l \in S$, $I_k(s)$ and $A_n(k, 1, w)$ be defined as before, $\sigma_n(k, 1, w)$ ($n=0, 1, 2, \dots$) be positive random variables on $([0, 1), \beta, \mu)$, and $D(k, 1)$ be the set of $w \in [0, 1]$ satisfying the following:

$$(i) \quad \lim_{n \rightarrow \infty} \sigma_n(k, 1, w) = \infty \quad (28)$$

$$(ii) \quad \limsup_{n \rightarrow \infty} \frac{\sum_{m=0}^{n-1} I_k(X_m(w)) \cdot {}_m p_{k1}}{\sigma_n(k, 1, w)} = \phi(w) < \infty, \quad (29)$$

then

$$\lim_{n \rightarrow \infty} \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(X_m(w))}{\sigma_n(k, 1, w)} = 0 \text{ a.e. } x \in D(k, 1) \quad (30)$$

Proof. Let $\lambda > 0$ be constant, R be defined by (15)-(19), function f be defined by (11) and (12), $t_n(\lambda, w) = t_n(R, w)$ be defined by (13). Letting $H(\lambda, k, 1)$ be the set of points of differentiability of f , $\mu(H(\lambda, k, 1)) = 1$ by the Lebesgue theorem on differentiability of monotone functions. Let $w \in H(\lambda, k, 1)$, and $w \in dx_0 \dots x_n$. If $\lim_{n \rightarrow \infty} \mu(dx_0 \dots x_n) = d > 0$,

$$\lim_{n \rightarrow \infty} t_n(\lambda, w) = \lim_{n \rightarrow \infty} \frac{\mu(\Delta_{x_0 \dots x_n})}{\mu(dx_0 \dots x_n)} = \frac{\lim_{n \rightarrow \infty} \mu(\Delta_{x_0 \dots x_n})}{d} < \infty, \quad (31)$$

if $\lim_{n \rightarrow \infty} \mu(dx_0 \dots x_n) = 0$, by a property of derivative

(cf. [10], 345-346) we have

$$\lim_{n \rightarrow \infty} t_n(\lambda, w) = f'(w) < \infty \quad (32)$$

By (31) and (32),

$$\lim_{n \rightarrow \infty} t_n(\lambda, w) = \text{finite number, } w \in H(\lambda, k, 1). \quad (33)$$

Letting $A(\lambda, k, 1) = H(\lambda, k, 1) \cap D(k, 1)$, by (33) and (28),

$$\limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(k, 1, w)} \ln t_n(\lambda, w) \leq 0, \quad w \in A(\lambda, k, 1). \quad (34)$$

By (34) and (27),

$$\limsup_{n \rightarrow \infty} \frac{A_n(k, 1, w)}{\sigma_n(k, 1, w)} \ln \left(\frac{1}{\sigma_n(k, 1, w)} \sum_{m=0}^{n-1} I_k(X_m(w)) \right).$$

$$\ln(1+(\lambda-1) m\rho_{k1})] \leq 0, \quad w \in A(, j, 1). \quad (35)$$

Letting $\lambda > 1$, and dividing the two sides of (35) by $\ln \lambda$, we have

$$\limsup_{n \rightarrow \infty} \frac{A_n(k, 1, w)}{\sigma_n(k, 1, w)} - \frac{1}{\sigma_n(k, 1, w)}$$

$$\sum_{m=0}^{n-1} I_k(X_m(w)) \frac{\ln(1+(\lambda-1)m\rho_{k1})}{\ln \lambda} \leq 0, \quad w \in A(, k, 1). \quad (36)$$

By (36), (29) and the inequality $0 < \ln(1+x) < X$ ($x > 0$), we have

$$\limsup_{n \rightarrow \infty} \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(X_m(w)) m\rho_{k1}}{\sigma_n(k, 1, w)} \leq$$

$$\limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(k, 1, w)} \sum_{m=0}^{n-1} I_k(X_m(w)) \frac{\ln(1+(\lambda-1)m\rho_{k1})}{\ln \lambda} - m\rho_{k1}$$

$$\limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(k, 1, w)} \sum_{m=0}^{n-1} I_k(X_m(w)) \left(\frac{\lambda-1}{\ln \lambda} - 1 \right) m\rho_{k1}$$

$$\leq \left(\frac{\lambda-1}{\ln \lambda} - 1 \right) \phi(w), \quad w \in A(, k, 1). \quad (37)$$

Assuming $\lambda_i > 1$ ($i=1, 2, \dots$), $i \rightarrow 1+0$ ($i \rightarrow \infty$), and letting

$$A(k, 1) = \bigcap_{i=1}^{\infty} A(\lambda_i, k, 1)$$

then for each $i=1, 2, \dots$, we have by (37),

$$\limsup \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(X_m(w)) m\rho_{k1}}{\sigma_n(k, 1, w)} \leq \frac{\lambda_i^{-1}}{\ln \lambda_i} - 1) \phi(w),$$

$$w \in A(k, 1). \quad (38)$$

Since $\frac{\lambda_1 - 1}{\ln \lambda_1} \rightarrow 1$ ($\lambda_1 \rightarrow \infty$), we have by (38),

$$\limsup \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(S_m(w)) m p k_1}{\sigma_n(k, 1, w)} \leq 0, \quad w \in A(k, 1) \quad (39)$$

Similarly, letting $0 < \lambda < 1$, and dividing the two sides of (35) by $\ln \lambda$, we have

$$\begin{aligned} \liminf_{n \rightarrow \infty} \frac{A_n(k, 1, w)}{\sigma_n(k, 1, w)} - \frac{1}{\sigma_n(k, 1, w)} \sum_{m=0}^{n-1} I_k(X_m(w)) \frac{\ln(1+\lambda-1) m p k_1}{\ln \lambda} \\ \geq 0, \quad w \in A(\lambda, k, 1). \end{aligned} \quad (40)$$

By (40), (29) and the inequality $\ln(1+x) \leq (-1 < x < 0)$, we have

$$\begin{aligned} \liminf_{n \rightarrow \infty} \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(X_m(w)) m p k_1}{\sigma_n(k, 1, w)} &\geq \liminf_{n \rightarrow \infty} \frac{1}{\sigma_n(k, 1, w)} \\ &= \sum_{m=0}^{n-1} I_k(X_m(w)) \left(\frac{\ln(1+(\lambda-1) m p k_1}{\ln \lambda} - m p k_1 \right) \\ &\geq \liminf_{n \rightarrow \infty} \frac{1}{\sigma_n(k, 1, w)} \sum_{m=0}^{n-1} I_k(X_m(w)) \left(\frac{\lambda-1}{\ln \lambda} - 1 \right) m p k_1 \\ &\geq \left(\frac{\lambda-1}{\ln \lambda} - 1 \right) \phi(w), \quad w \in A(\lambda, k, 1). \end{aligned} \quad (41)$$

Assuming $0 < \tau_i < 1$ ($i=1, 2, \dots$), $\tau_i \rightarrow 1-0$ ($i \rightarrow \infty$), and letting

$$B(k, 1) = \bigcap_{i=1}^{\infty} A(\tau_i, k, 1),$$

then for each $i=1,2,\dots$, we have by (41),

$$\liminf_{n \rightarrow \infty} \frac{A_n(k,1,w) - \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{\sigma_n(k,1,w)} \geq \left(\frac{\tau_i - 1}{\ln \tau_i} - 1 \right) \phi(w),$$

$$w \in B(k,1). \quad (42)$$

Since $\frac{\tau_i - 1}{\ln \tau_i} \rightarrow 1$ ($i \rightarrow \infty$), we have by (42),

$$\liminf_{n \rightarrow \infty} \frac{A_n(k,1,w) - \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{\sigma_n(k,1,w)} \geq 0, \quad w \in B(k,1) \quad (43)$$

Letting $C(k,1) = A(k,1) \cap B(k,1)$, we have by (39) and (43),

$$\lim_{n \rightarrow \infty} \frac{A_n(k,1,w) - \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{\sigma_n(k,1,w)} = 0, \quad w \in C(k,1). \quad (44)$$

Since $C(k,1) \subset D(k,1)$, and $\mu(C(k,1)) = \mu(D(k,1))$, hence, by (44), (30) is true. Q.E.D.

Choosing $\sigma_n(k,1,w)$ appropriately, we have two immediate consequences below, where no restriction is imposed on the Markov chains.

Theorem 2. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $k, 1 \in S$, $I_k(s)$ and $A_n(k,1,w)$ be defined as before, and let

$$S_n(k,w) = \sum_{m=0}^{n-1} I_k(X_m(w)), \quad (45)$$

that is, $S_n(k,w)$ be the number of occurrence of k in the sequence $X_0(w), X_1(w), \dots, X_{n-1}(w)$. Then

$$\lim_{n \rightarrow \infty} \frac{A_n(k,1,w) - \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{S_n(k,w)} = 0 \quad \text{a.e., } w \in D_k \quad (46)$$

where

$$D_n = \{w: \lim_{n \rightarrow \infty} S_n(k, w) = \infty\}. \quad (47)$$

Proof: Letting $\sigma_n(k, 1, w) = S_n(k, w)$ in Theorem 1, since

$$\frac{\sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{S_n(k, w)} \leq 1, \quad n=0, 1, 2, \dots,$$

hence $D=(k, 1)=D_k$, and (46) follows by (30). Q.E.D

Corollary. If

$$\lim_{n \rightarrow \infty} n p_{k1} = p_{k1} \quad (48)$$

then

$$\lim_{n \rightarrow \infty} \frac{A_n(k, 1, w)}{S_n(k, w)} = p_{k1} \quad \text{a.e., } w \in D_k. \quad (49)$$

Proof. Since (48) implies

$$\lim_{n \rightarrow \infty} \frac{\sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{S_n(k, w)} = p_{k1}, \quad w \in D_k$$

(49) follows by (46).

Theorem 3. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $k, 1 \in S$, $I_k(s)$ and $A_n(k, 1, w)$ be defined as before, and let

$$H(k, 1) = \{w: \lim_{n \rightarrow \infty} \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1} = \infty\}.$$

Then

$$\lim_{n \rightarrow \infty} \frac{A_n(k, 1, w) - \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}}{\sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m p_{k1}} = \text{a.e., } w \in H(k, 1). \quad (50)$$

Proof. Letting $\sigma_n(k, 1, w) = \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}$ in Theorem 1, follows easily.

3. The strong law for the frequency of occurrence of states.

In order to prove the theorems below we construct another auxiliary function. For this purpose, we first give another construction of matrix R in (8). Let $l \in S$, $\lambda > 0$ be a constant. For each $m \geq 0$ and all $k \in S$, let $m r_{kj}$ be defined by (16)-(18). Hence the sequence (8) and the function f defined by (11) and (12) are determined by λ , and we will denote $t_n(R, w)$ in (13) by $t_n(\lambda, w)$

Lemma 2. If $w \in d_{x_0 \dots x_n}$ ($n \geq 1$),

$$t_n(\lambda, w) = \frac{S_n(1, w) + I_1(x_n) - I_1(x_0)}{\prod_{k \in S} \left(\frac{1}{1 + (\lambda - 1) m p_{k1}} \right)^{I_k(x_m)}}, \quad (51)$$

where the notation \prod_k denotes multiplication over all $k \in S$.

Proof. If $w \in d_{x_0 \dots x_n}$, we have by (14),

$$t_n(\lambda, w) = \prod_{m=0}^{n-1} \frac{m \Gamma_{x_m x_{m+1}}}{m p_{x_m x_{m+1}}} = \prod_{k \in S} \prod_{\substack{m=0 \\ \alpha_m=k}}^{n-1} \frac{m \Gamma_{x_m x_{m+1}}}{m p_{x_m x_{m+1}}}. \quad (52)$$

By similar argument, as in the case of Lemma 1, we have

$$\prod_{\substack{x=0 \\ x_m=k}}^{n-1} \frac{m x_m x_{m+1}}{m p_{x_m x_{m+1}}} = \lambda^{A_n(k, 1, w)} \prod_{m=0}^{n-1} \left(\frac{I_k(x_m)}{1 + (\lambda - 1) m p_{k1}} \right) \quad (53)$$

By (52), (53) and the equality

$$\sum_k A_n(k, 1, w) = S_n(1, w) - I_1(x_n) - I_1(x_0), \quad w \in d_{x_0, \dots, x_n} \quad (54)$$

where the notation \sum_k denotes summation over all $k \in S$, (51) follows.

We have the rewrite of (51):

$$t_n(\lambda, w) = S_n(1, w) + I_1(X_n(w)) - I_1(X_0(w)) \\ \pi_k \prod_{m=0}^{n-1} \left(\frac{1}{1 + (\lambda - 1) m p_{k1}} \right)^{I_k(X_m(w))}, \quad w \in [0, 1] \quad (55)$$

as in the case of (27).

Theorem 4. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $I_k(s)$ and $S_n(1, w)$ be defined as before, $\sigma_n(1, w)$ ($n=0, 1, 2, \dots$) be positive random variables on $([0, 1], \beta, \mu)$ and $D(1)$ be the set of $w \in [0, 1)$ satisfying the following:

$$(1) \quad \lim_{n \rightarrow \infty} \sigma_n(1, w) = \infty; \quad (56)$$

$$(11) \quad \limsup_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} = \phi(w) < \infty, \quad (57)$$

then

$$\lim_{n \rightarrow \infty} \frac{S_n(1, w) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} = 0 \text{ a.e., } w \in D(1) \quad (58)$$

Proof. Letting $H(\lambda, 1)$ be the set of points of differentiability of function f discussed in lemma 2, $\mu H(\lambda, 1) = 1$. We have, as in the case of (33),

$$\lim_{n \rightarrow \infty} t_n(\lambda, w) = \text{finite number, } w \in H(\lambda, 1). \quad (59)$$

Let $A(\lambda, 1) = H(\lambda, 1) \cap D(1)$. Then

$$\limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(1, w)} \ln t_n(\lambda, w) \leq 0, \quad w \in A(\lambda, 1)$$

by (59) and (56), and (60)

$$\limsup_{n \rightarrow \infty} \left[\frac{S_n(1, w)}{\sigma_n(1, w)} \ln \lambda - \frac{1}{\sigma_n(1, w)} \sum_{k=0}^{n-1} \sum_{m=0}^{n-1} I_k(X_m(w)) \ln(1 + (\lambda-1) m p_{k1}) \right] \leq 0, \quad w \in A(\lambda, 1) \quad (61)$$

Letting $\lambda > 1$, and dividing the two sides of (61) by $\ln \lambda$, we have

$$\limsup_{n \rightarrow \infty} \left[\frac{S_n(1, w)}{\sigma_n(1, w)} - \frac{1}{\sigma_n(1, w)} \sum_{k=0}^{n-1} \sum_{m=0}^{n-1} \frac{I_k(X_m(w)) \ln(1 + (\lambda-1) m p_{k1})}{\ln \lambda} \right] \leq 0, \quad w \in A(\lambda, 1) \quad (62)$$

By (62), (57) and the inequality $0 \leq \ln(1+x) \leq x (x \geq 0)$, we have

$$\begin{aligned} & \limsup_{n \rightarrow \infty} \frac{S_n(1, w) - \sum_{k=0}^{n-1} \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} \\ & \leq \limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(1, w)} \sum_{k=0}^{n-1} \sum_{m=0}^{n-1} I_k(X_m(w)) \left(\frac{\ln(1 + (\lambda-1) m p_{k1})}{\ln \lambda} - m p_{k1} \right) \\ & \leq \limsup_{n \rightarrow \infty} \frac{1}{\sigma_n(1, w)} \sum_{k=0}^{n-1} \sum_{m=0}^{n-1} I_k(X_m(w)) \frac{(\lambda-1)}{\ln \lambda} m p_{k1} \\ & \leq \frac{\lambda-1}{\ln \lambda} (1) \phi(w), \quad w \in A(\lambda, 1). \end{aligned} \quad (63)$$

Assuming $\lambda_i > 1 (i=1, 2, \dots)$, $\lambda_i \rightarrow 1+0 (i \rightarrow \infty)$, and letting

$$A(1) = \bigcap_{i=1}^{\infty} A(\lambda_i, 1),$$

then for each $i = 1, 2, \dots$, we have by (63),

$$\limsup_{n \rightarrow \infty} \frac{S_n(1, w) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} \leq \frac{\lambda_i - 1}{1 - \lambda_i} \varphi(w), \quad w \in A(1) \quad (64)$$

Since $\frac{\lambda_i - 1}{1 - \lambda_i} \rightarrow 1$ ($i \rightarrow \infty$), we have by (64),

$$\limsup_{n \rightarrow \infty} \frac{S_n(1, w) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} \leq 0, \quad w \in A(1) \quad (65)$$

Similarly, letting $0 < \lambda < 1$, and dividing the two sides of (61) by $\ln \lambda$, we have

$$\liminf_{n \rightarrow \infty} \frac{S_n(1, w) - \frac{1}{\sigma_n(1, w)} \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \ln(1 + (\lambda - 1) m p_{k1})}{\sigma_n(1, w)} \geq 0, \quad w \in A(\lambda, 1) \quad (66)$$

Assuming $0 < \tau_i < 1$ ($i=1, 2, \dots$), $\tau_i \rightarrow 1$ ($i \rightarrow \infty$), and letting

$$B(1) = \bigcap_{i=1}^{\infty} A(\tau_i, 1)$$

We have by (66),

$$\liminf_{n \rightarrow \infty} \frac{S_n(1, w) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) m p_{k1}}{\sigma_n(1, w)} \geq 0, \quad w \in B(1) \quad (67)$$

as in the case of (65).

Letting $C(1) = A(1) \cap B(1)$, we have by (65) and (67).

$$\lim_{n \rightarrow \infty} \frac{S_n(1, \omega) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) m p_{k1}}{\sigma_n(1, \omega)} = 0, \omega \in (1). \quad (68)$$

Since $C(1) \subset D(1)$ and $\mu(C(1)) = \mu(D(1))$, (58) follows by (68).

Theorem 5. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $I_k(s)$ and $S_n(1, \omega)$ be defined as before. Then

$$\lim_{n \rightarrow \infty} \frac{S_n(1, \omega) - \sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) m p_{k1}}{n} = 0 \text{ a.e. in } [0, 1]. \quad (69)$$

Proof. Letting $\sigma_n(1, \omega) = n$ in Theorem 4, and noticing the inequality

$$\sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) m p_{k1} \leq \sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) = n$$

(69) follows by Theorem 4.

Letting $\sigma_n(1, \omega) = \sum_{m=0}^{n-1} \sum_k I_k(X_m(\omega)) m p_{k1}$ in Theorem 4, we have the immediate consequence below.

Theorem 6. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $I_k(s)$ and $S_n(1, \omega)$ be defined as before, and let

$$H(1) = \left\{ \omega : \lim_{n \rightarrow \infty} \sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) m p_{k1} = \infty \right\} \quad (70)$$

Then

$$\lim_{n \rightarrow \infty} \frac{S_n(1, \omega)}{\sum_k \sum_{m=0}^{n-1} I_k(X_m(\omega)) m p_{k1}} = 1 \text{ a.e., } \omega \in H(1). \quad (71)$$

Theorem 7. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $I_k(s)$ and $S_n(1, w)$ be defined as before, and let

$$S(1) = \{w: \lim S_n(1, w) = \infty\}. \quad (72)$$

Then

$$\lim_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m P_{k1}}{S_n(1, w)} = 1 \text{ a.e., } w \in S(1) \quad (73)$$

Proof Letting $\sigma_n(1, w) = S_n(1, w)$ in Theorem 4, and $H(1)$ be defined by (70). If $w \in ([0, 1] - H(1)) \cap S(1)$,

$$\lim_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m P_{k1}}{S_n(1, w)} = 0 \quad (74)$$

and

$$\lim_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m P_{k1}}{S_n(1, w)} = 1 \text{ a.e., } w \in S(1) \cap H(1) \quad (75)$$

Then by (74) and (75),

$$\lim_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m P_{k1}}{S_n(1, w)} = 1 \text{ a.e., } w \in S(1). \quad (76)$$

Let $W(1)$ be the set $w \in S(1)$ satisfying the inequality in (76).

Then by (72) and (76) and Theorem 4,

$$\lim_{n \rightarrow \infty} \frac{\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) \cdot m P_{k1}}{S_n(1, w)} = 1 \text{ a.e. } w \in W(1). \quad (77)$$

Since $W(1) \subset S(1)$ and $\mu(W(1)) = \mu(S(1))$, (73) follows by 77.

By Theorem 6 and Theorem 7, we have the immediate consequence below.

Theorem 8. Let $\{X_n, n \geq 0\}$ be a Markov chain defined by (6), $S_n(1, w)$ be defined as before. Then

$$\lim_{n \rightarrow \infty} S_n(1, w) = \infty \quad \text{a.e. } w \in [0, 1) \quad (78)$$

if and only if

$$\lim_{n \rightarrow \infty} \sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) p_{k1} = \infty \quad \text{a.e. } w \in [0, 1). \quad (79)$$

Corollary. Assume that the Markov chain defined by (6) is homogeneous, that is, $p_{m+1, k} = p_{m, k}$ ($m=0, 1, 2, \dots$), Then (78) holds if and only if

$$\lim_k \sum_k p_{k1} S_n(k, w) = \infty \quad \text{a.e., } w \in [0, 1). \quad (80)$$

Proof. By Theorem 8, and noticing that

$$\sum_k \sum_{m=0}^{n-1} I_k(X_m(w)) p_{k1} = \sum_k p_{k1} S_n(k, w),$$

the corollary follows.

References:

- [1] Rosenblatt-Roth, M., Some theorem concerning the strong law of large numbers for non-homogeneous Markov chains, *Ann Math. State.* 35, 566-576.
- [2] Rosenblatt-Roth, M., some theorems concerning the strong law of large numbers for non-homogenous Markov chains, *Z.f Wahrscheinlichkeistheorie.* I(1963), 433-445.
- [3] Cohn, H., Finite non-homogeneous Markov chains: asymptotic behaviour, *Adv. Appl Prob.* 8(1976), 502-516.
- [4] Cohn, H., countable non-homogeneous Markov chains: asymptotic behaviour, *Adv. Appl Prob,* 9(1977), 5422-552.
- [5] Cohn, H., On a paper by Doeblin on nonhomogeneous Markov chains, *Adv. Appl. Prob.* 13(1981), 388-410.
- [6] Cohn, H., On a class of non-homogeneous Markov chains, *Math Proc. Camb. Phil. Soc.* 92(1982), 527-534.
- [7] Mukherjea, A., A new result on the convergence of non-homogeneous stochastic chains, *Trans. Amer. Math. Soc.* 263 (1980), 505-520
- [8] Mukherjea, A. and Chaudhuri, R., Convergence of non homogeneous stochastic chains II. *Math. Proc. Camb. Soc.* 90(1981), 167-182.
- [9] Mukherjea, A., Convergence of non-homogeneous Markov chains with countable states, *Journal of Multivariate Analysis,* 16(1985), 85-117.
- [10] Hildebrant, T.H., *Introduction to the Theory of Integration,* Academic Press, New York, 1963, 345-346.